ISSN (e): 2250-3021, ISSN (p): 2278-8719 Vol. 10, Issue 1, January 2020, ||Series -VI|| PP 46-52

OscillationsofThird Order Neutral DelayDifferential Equations

P.V.H.S SaiKumar¹,K.V.V Seshagiri Rao²

¹AssiatantProfessor Department of Mathematics,SrideviWomens Engineering College,Vattinagulapalli Near Gopanpalli, Wipro Campus, RangaReddy,India.
²Professor, Sir C R Reddy college of Engineering, Eluru,India. Received 14 January 2020; Accepted 30 January 2020

Abstract:Sufficient conditions for oscillations of third order non-linear neutral delay differential equations of the form

$$\frac{d}{dt}\left\{r(t)\frac{d^{2}}{dt^{2}}\left(m(t)y(t) + \sum_{i=1}^{n}\frac{1}{t_{i}(t_{i}-1)}y^{\alpha}(t-\tau)\right)\right\} + f(t)y(t-\sigma) = 0, \quad t \ge t_{0}$$

are obtained where, r(t), m(t) are positive real valued continuous functions $f(t) \ge 0$, and α is the ratio of odd positive integers and *n* is an integer. **Key words:**Oscillation, Third order, Neutral Differential equation.

I. INTRODUCTION

In this paper we consider the non-linear neutral delay differential equation

$$\frac{d}{dt} \left\{ r(t) \frac{d^2}{dt^2} \left(m(t) y(t) + \sum_{i=1}^n \frac{1}{t_i(t_i - 1)} y^{\alpha}(t - \tau) \right) \right\} + f(t) y(t - \sigma) = 0, \quad t \ge t_0$$
(1)

where $r(t) \in C([t_0, \infty), (0, \infty)), f(t) \in C([t_0, \infty), [0, \infty))$

Corresponding equation in the absence of neutral term is given by

$$\frac{d}{dt}\left\{r(t)\frac{d^2}{dt^2}\left\{m(t)y(t)\right\}\right\} + f(t)y(t-\sigma) = 0$$
(2)

which is a delay differential equation and further if we take $m(t) = 1, \sigma = 0$ in equation (2) we get

$$\frac{d}{dt}\left\{r(t)\frac{d^2}{dt^2}\left\{y(t)\right\}\right\} + f(t)y(t) = 0$$
(3)

The study of behavior of solutions of differential equation (2) has been a subject of interest for several researchers. We mention the works of [4, 5and 6].Oscillatory behavior of delay differential equations is extensively studied by several authors [1, 2, 3,7,10,11,12,13,14, 15 and 16].

Now we see some special case of equation (1).

When

 $r(t) \equiv 1$ equation (1) is reduced to

$$\frac{d^{3}}{dt^{3}} \left\{ m(t)y(t) + \sum_{i=1}^{n} \frac{1}{t_{i}(t_{i}-1)} y^{\alpha}(t-\tau) \right\} + f(t)y(t-\sigma) = 0$$
(4)
and to

and to

$$\frac{d^{3}}{dt^{3}} \left\{ m(t)y(t) + \sum_{i=1}^{n} \frac{1}{t_{i}(t_{i}-1)} y^{\alpha}(t-\tau) \right\} + f(t)y(t) = 0 \text{ if } \qquad \sigma = 0$$
(5)

and we note that, when m(t) = 1, this equation further becomes to the equation

$$\frac{d^{3}}{dt^{3}}\left\{y(t) + \sum_{i=1}^{n} \frac{1}{t_{i}(t_{i}-1)}y^{\alpha}(t-\tau)\right\} + f(t)y(t) = 0$$
(6)

International organization of Scientific Research

Recently there has been an increasing interest in the study of the oscillation of differential equations e.g. papers [18]-[22]. In particular, differential equations of the form (1) and for special cases when $r(t) \equiv 1$, is a subject of intensive research.

The oscillation for equation (6) has been discussed by many authors.

CuimeiJiang ,Ying Jiang and Tongxing Li [8],studied the Asymptotic behavior of Third order differential equations with nonpositive neutral coefficients and distributed deviating arguments of the form

$$\left(r(t)\left(z^{\prime\prime}(t)\right)^{\alpha}\right)^{\prime} + \int_{c}^{a} q(t,\xi)f\left[x(\sigma(t,\xi))\right]d\xi = 0$$
⁽⁷⁾

andMustafa FahriAktas ,DevrimCakmakand AydinTiryaki [17] have considered the Third order nonlinear functional differential equations of the form

$$\left(r_2(t) \left(r_1(t) y' \right)' \right)' + p(t) y' + q(t) f\left(y(g(t)) \right) = 0$$
(8)

V. Ganesan, M. Sathish Kumar [9] have considered the Third order poplinger neutral differential equations of the second second

V. Ganesan ,M. Sathish Kumar [9] have considered the Third order nonlinear neutral differential equation with neutral terms of the form

$$\left[r(t)\left[\left(x(t)+\sum_{i=1}^{n}p_{i}(t)x(\eta_{i}(t))\right)^{*}\right]^{\gamma}\right]^{+}+q(t)x^{\gamma}(\sigma(t))=0$$
(9)

The present work is motivated by [19] where the Authors, P. V. H. S Sai Kumar and K. V. V SeshagiriRaohave considered oscillations of third order linear neutral delay differential equation of the form

$$\frac{d}{dt}\left\{r_1(t)\frac{d^2}{dt^2}\left(m(t)y(t) + \frac{r(t)}{r(t-\tau)}y^{\alpha}(t-\tau)\right)\right\} + f(t)y(t-\sigma) = 0; \quad t \ge t_0$$

In this paper we establish the conditions for the oscillation of solutions of equation (1) by Ricccati Technique using the condition.

$$\int_{t_0}^t \frac{1}{r(t)} dt = \infty \text{ as } t \to \infty.$$

By a solution of equation (1) we mean a function $y(t) \in C([T_y, \infty))$ where $T_y \ge t_0$ which satisfies(1) on $[T_y, \infty)$. We consider only those solutions of y(t) of (1) which satisfy $Sup\{|y(t)|: t \ge T\} > 0$ for all $T \ge T_y$ and assume that (1) possesses such solutions.

A solution of equation (1) is called oscillatory if it has arbitrary large zeros on $[T_y, \infty)$; otherwise it is called nonoscillatory. Equation (1) is said to be oscillatory it all its solutions oscillate .Unless otherwise stated, when we write a functional inequality, it will be assumed to hold for sufficiently large t in our subsequent discussion.

II. MAIN RESULTS

We need the following in our discussion $(H_1): r(t), m(t) \in C([t_0, \infty), R);$ $(H_2): f(t), p_i(t) = \frac{1}{t_i(t_i - 1)}$ are continuously differentiable on $[t_0, \infty)$.

 $(H_3): 0 < \alpha \le 1$, and α is the ratio of odd positive integers.

 (H_4) : τ and σ are positive constants

(H₅)
$$f(t) > 0$$
, $0 < \sum_{i=1}^{n} p_i(t) < \infty$ i.e. $0 < \sum_{i=1}^{n} \frac{1}{t_i(t_i - 1)} < \infty$ for $i = 1, 2, \dots, \infty$.

We set

$$z(t) = m(t)y(t) + \sum_{i=1}^{n} \frac{1}{t_i(t_i - 1)} y^{\alpha}(t - \tau)$$
(10)

And
$$R(t) = \int_{t_0}^{t} \frac{1}{r(t)} dt = \infty$$
 as $t \to \infty$ (11)

We have the following Lemmas

Lemma 2.1: If a and b are positive, then $a^{\alpha}b^{1-\alpha} \leq \alpha a + (1-\alpha)b$ for $0 < \alpha \leq 1$, where equality holds if and only if a = b.

Lemma 2.2: Let $\alpha \ge 1$, be a ratio of odd positive integers. Then

$$Bu - Au^{\frac{\alpha+1}{\alpha}} \le \frac{\alpha^{\alpha}}{(\alpha+1)^{\alpha+1}} \frac{B^{\alpha+1}}{A^{\alpha}}, \qquad A, B > 0,$$
(12)

Now we present the main theorem.

Theorem 2.1: Assume $(H_1) - (H_5)$ and (11) hold. If $\alpha \ge 1$ and there exists a positive non decreasing function $\rho \in C'([t_0, \infty), R)$ such that

$$\underset{t\to\infty}{\text{Limsup}} \int_{t_2}^{t} \left\{ \frac{\rho(s)f(s)}{m(s-\sigma)} \left[2k \left(1 - \left[\alpha + (1+\alpha)\frac{1}{k}\right] \sum_{i=1}^{n} \frac{1}{t_i(t_i-1)} \right) \right] \right\} - \frac{(\rho'(s))^2 r(s)}{\rho(s)} \right\} ds = \infty$$

for some $k \in (0,1)$, then every solution of equation (1) is oscillatory.

Proof. Suppose that there exists a nonoscillatory solution. Let y(t) be such nonoscillatory solution. Without loss

of Generality we can assume that there exists $T > t_0$ such that y(t) > 0 for $t \ge T$. We observe that

$$z(t) > 0, \quad z'(t) > 0, \quad z''(t) > 0, (r(t)z'''(t)) \le 0; \text{ for } t \ge t_1 \ge T > t_0$$
$$z(t) \ge a(t)z''(t)R(t), \quad t \ge t_1$$

r(t)z''(t) is decreasing. Hence $\frac{z(t)}{R(t)}$ is decreasing for $t \ge t_1$.

Since z(t) is positive increasing function, there exists a constant k > 0 such that $z(t) \ge 2k > 0$

From the definition of z(t) we have

Thus

$$z(t) = m(t)y(t) + \sum_{i=1}^{n} \frac{1}{t_i(t_i - 1)} y^{\alpha}(t - \tau)$$

$$m(t)y(t) = z(t) - \sum_{i=1}^{n} \frac{1}{t_i(t_i - 1)} y^{\alpha}(t - \tau)$$

$$y(t) \ge \frac{1}{m(t)} \left[z(t) - \sum_{i=1}^{n} \frac{1}{t(t - 1)} z^{\alpha}(t) \right], \quad t - \tau \le t$$

$$y(t) \ge \frac{1}{m(t)} \left[z(t) - \sum_{i=1}^{n} \frac{1}{t_i(t_i - 1)} (\alpha z(t) + (1 - \alpha)) \right]$$

$$y(t) \ge \frac{1}{m(t)} \left[z(t) - \sum_{i=1}^{n} \frac{1}{t_i(t_i - 1)} \alpha z(t) - \sum_{i=1}^{n} \frac{1}{t_i(t_i - 1)} (1 - \alpha) \right]$$

International organization of Scientific Research

(13)

(14)

(15)

$$y(t) = \frac{1}{m(t)} \left[z(t) \left(1 - \sum_{i=1}^{n} \frac{\alpha}{t_i(t_i - 1)} \right) - \sum_{i=1}^{n} \frac{1}{t_i(t_i - 1)} (1 - \alpha) \right]$$

We have used the inequality with b=1. Using $p(t) = \max_{i=1,\dots,m} p_i(t)$

Also we have
$$y(t) \ge \frac{1}{m(t)} \left[z(t) \left(1 - \sum_{i=1}^{n} \frac{1}{t_i(t_i - 1)} \alpha - \frac{1}{z(t)} \cdot \sum_{i=1}^{n} \frac{1}{t_i(t_i - 1)} (1 - \alpha) \right) \right]_{(16)}$$

Substituting (14) into (16) we get

$$y(t) \ge \frac{1}{m(t)} \left[2k \left(1 - \sum_{i=1}^{n} \frac{1}{t_i(t_i - 1)} \alpha - \frac{1}{k} \sum_{i=1}^{n} \frac{1}{t_i(t_i - 1)} (1 - \alpha) \right) \right]$$
From equation (1) we see that
$$d \left[\left(1 + \frac{d^2}{2} \left(1 + \frac{1}{k} \sum_{i=1}^{n} \frac{1}{k} - \frac{1}{k} \sum_{i=1}^{n} \frac{1}{k} + \frac{1}{k} \sum_{i=1}^{n} \frac{1}{k} \sum_{i=1}^{n} \frac{1}{k} \sum_{i=1}^{n} \frac{1}{k} + \frac{1}{k} \sum_{i=1}^{n} \frac{1}$$

$$\frac{d}{dt}\left\{r(t)\frac{d^2}{dt^2}\left(m(t)y(t) + \sum_{i=1}^n \frac{1}{t_i(t_i-1)}y^{\alpha}(t-\tau)\right)\right\} = -f(t)y(t-\sigma)$$

But

$$y(t) \ge \frac{1}{m(t)} \left[2k \left(1 - \sum_{i=1}^{n} \frac{1}{t_i(t_i - 1)} \alpha - \frac{1}{k} \cdot \sum_{i=1}^{n} \frac{1}{t_i(t_i - 1)} (1 - \alpha) \right) \right]$$
$$y(t - \sigma) \ge \frac{1}{m(t - \sigma)} \left[2k \left(1 - \sum_{i=1}^{n} \frac{1}{t_i(t_i - 1)} \alpha - \frac{1}{k} \cdot \sum_{i=1}^{n} \frac{1}{t_i(t_i - 1)} (1 - \alpha) \right) \right]$$
(18)

Define

$$\begin{aligned} \omega(t) &= \rho(t) \frac{r(t)z''(t)}{z'(t)}; \quad t \ge t_1 \end{aligned} \tag{19} \\ \omega'(t) &= \rho'(t) \frac{r(t)z''(t)}{z'(t)} + \rho(t) \left[\frac{r(t)z''(t)}{z'(t)} \right]^{'} \\ \omega'(t) &= \rho'(t) \frac{r(t)(z''(t))}{z'(t)} + \rho(t) \left[\frac{z'(t)(r(t)z''(t))' - (r(t)z''(t))z''(t)}{(z'(t))^2} \right] \\ \omega'(t) &= \rho'(t) \frac{r(t)(z''(t))}{z'(t)} + \rho(t) \left[\frac{z'(t)(r(t)z''(t))'}{z'(t)z'(t)} \right] - \rho(t) \left[\frac{(r(t)z''(t))z''(t)}{(z'(t))^2} \right] \\ \omega'(t) &= \rho'(t) \frac{r(t)(z''(t))}{z'(t)} + \rho(t) \left[\frac{(r(t)z''(t))'}{z'(t)} \right] - \rho(t) \left[\frac{r(t)(z''(t))^2}{(z'(t))^2} \right] \end{aligned}$$

From (19) we have, $\frac{\omega(t)}{\rho(t)} = \frac{r(t)(z''(t))}{z'(t)},$ Oscillations of Third Order Neutral Delay Differential Equations

$$\omega'(t) \leq \frac{\rho'(t)}{\rho(t)} \omega(t) - \rho(t) f(t) \left\{ \frac{1}{m(t-\sigma)} \left[2k \left(1 - \sum_{i=1}^{n} \frac{1}{t_i(t_i-1)} \alpha - \frac{1}{k} \cdot \sum_{i=1}^{n} \frac{1}{t_i(t_i-1)} (1-\alpha) \right) \right] \right\} - \rho(t) \left[\frac{r(t) (z''(t))^{2'}}{(z'(t))^2} \right]$$
(20)

Also

$$\frac{z''(t)}{z'(t)} = \frac{\omega(t)}{r(t)\rho(t)}$$

$$\omega'(t) \leq \frac{\rho'(t)}{\rho(t)}\omega(t) - \rho(t)f(t) \left\{ \frac{1}{m(t-\sigma)} \left[2k \left(1 - \sum_{i=1}^{n} \frac{1}{t_{i}(t_{i}-1)} \alpha - \frac{1}{k} \cdot \sum_{i=1}^{n} \frac{1}{t_{i}(t_{i}-1)} (1-\alpha) \right) \right] \right\}$$

$$-\rho(t) \left[r(t) \cdot \frac{\omega^{2}(t)}{r^{2}(t)\rho^{2}(t)} \cdot \right]$$

$$\omega'(t) \leq \frac{\rho'(t)}{\rho(t)}\omega(t) - \rho(t)f(t) \left\{ \frac{1}{m(t-\sigma)} \left[2k \left(1 - \sum_{i=1}^{n} \frac{1}{t_{i}(t_{i}-1)} \alpha - \frac{1}{k} \cdot \sum_{i=1}^{n} \frac{1}{t_{i}(t_{i}-1)} (1-\alpha) \right) \right] \right\}$$

$$-\left[\frac{\omega^{2}(t)}{r(t)\rho(t)} \cdot \right]$$

$$u = \omega(t) , \qquad A = \frac{1}{r(t)\rho(t)} , \qquad B = \frac{\rho'(t)}{\rho(t)}$$
(21)

Using the Inequality

$$Bu - Au^{\frac{\alpha+1}{\alpha}} \leq \frac{\alpha^{\alpha}}{(\alpha+1)^{\alpha+1}} \frac{B^{\alpha+1}}{A^{\alpha}}, \qquad A, B > 0,$$

$$\frac{\rho'(t)}{\rho(t)} \omega(t) - \frac{1}{r(t)\rho(t)} \omega^{2}(t) \leq \frac{1}{4} \frac{\left(\frac{\rho'(t)}{\rho(t)}\right)^{2}}{\frac{1}{r(t)\rho(t)}}$$

$$\frac{\rho'(t)}{\rho(t)} \omega(t) - \frac{1}{r(t)\rho(t)} \omega^{2}(t) \leq \frac{1}{4} \left(\frac{\rho'(t)}{\rho(t)}\right)^{2} . r(t)\rho(t)$$

$$\frac{\rho'(t)}{\rho(t)} \omega(t) - \frac{1}{r(t)\rho(t)} \omega^{2}(t) \leq \frac{1}{4} \frac{(\rho'(t))2}{\rho(t)} . r(t)$$

(22)

From (21)

$$\omega'(t) \leq -\rho(t)f(t) \left\{ \frac{1}{m(t-\sigma)} \left[2k \left(1 - \sum_{i=1}^{n} \frac{1}{t_i(t_i-1)} \alpha - \frac{1}{k} \cdot \sum_{i=1}^{n} \frac{1}{t_i(t_i-1)} (1-\alpha) \right) \right] \right\} + \frac{\rho'(t)}{\rho(t)} \omega(t) - \left[\frac{\omega^2(t)}{r(t)\rho(t)} \right]$$

From (22)

International organization of Scientific Research

$$\omega'(t) \leq -G(t) + \frac{1}{4} \frac{\left(\rho'(t)\right)^2}{\rho(t)} . r(t)$$

where

$$G(t) = -\rho(t)f(t) \left\{ \frac{1}{m(t-\sigma)} \left[2k \left(1 - \sum_{i=1}^{n} \frac{1}{t_i(t_i-1)} \alpha - \frac{1}{k} \cdot \sum_{i=1}^{n} \frac{1}{t_i(t_i-1)} (1-\alpha) \right) \right] \right\}$$

Hence there exists $t_2 > t_1$ such that

$$\int_{t_2}^{t} \left(\rho(s)f(s) \left\{ \frac{1}{m(s-\sigma)} \left[2k \left(1 - \sum_{i=1}^{n} \frac{1}{t_i(t_i-1)} \alpha - \frac{1}{k} \cdot \sum_{i=1}^{n} \frac{1}{t_i(t_i-1)} (1-\alpha) \right) \right] \right\} - \frac{1}{4} \frac{\left(\rho'(s)\right)^2 r(s)}{\rho(s)} ds \le \omega(t_2)$$

which contradict (13). Hence the proof is complete.

REFERENCES

- [1]. R. P. Agarwal, S. R. Grace, and D. O'Regan, Oscillation theory for difference and functional differential equations, Kluwer Acad. Publ., Dordrecht (2000).
- [2]. M. Bartušek, Z. Došlá, Oscillation of fourth order sub-linear differential equations, Applied Mathematics Letters 36(2014),36–39. url.
- [3]. Bazighifan, O. Oscillatory behavior of higher-order delay differential equations. Gen. Lett. Math. 2017, 2, 105–110.
- [4]. B. Bacul'ıkova and J. D' zurina, "Oscillation of third-order functional di' fferential equations," Electronic Journal of Qualitative Theory of Differential Equations, vol. 43, pp. 1–10, 2010.
- [5]. B. Bacul'ikova and J. D ' zurina, "Oscillation of third-order neutral di' fferential equations," Mathematical and Computer Modelling, vol. 52, no. 1-2, pp. 215–226, 2010.
- [6]. B. Bacul'ıkova and J. D ' zurina, "On the asymptotic behavior of a class of third order nonlinear neutral differential equations," Central European Journal of Mathematics, vol. 8, no. 6, pp. 1091–1103, 2010.
- [7]. Candan, T: Asymptotic properties of solutions of third-order nonlinear neutral dynamic equations. Adv. Differ. Equ.2014, 35 (2014).
- [8]. CuimeiJiang, Ying Jiang and Tongxing Li, Asymptotic behavior of third-order differential equations with nonpositive neutral coefficients and distributed deviating arguments Advances in Difference Equations (2016) 2016:105
- [9]. V. Ganesan, M.SathishKumarOscillationof certain third order nonlinear differential equation with neutral terms, Int. J. Math. & Comp. Sci. Vol. 3, No. 1-2, 2017; Pages 53 - 60
- [10]. Hardy, GH, Littlewood, JE, Polya, G: Inequalities. Cambridge University Press, Cambridg (1988).
- [11]. JozefDžurina, BlankaBaculíková and Irena Jadlovská B, New oscillation results to fourth-order delay differential equations with damping, Electronic Journal of Qualitative Theory of Differential Equations, No.7, 1–15., 2016 .
- [12]. Karpuz, B: Sufficient conditions for the oscillation and asymptotic behaviour of higher-orderdynamic equations of neutral type. Appl. Math. Comput. 221, 453-462, 2013.
- [13]. T. Kusano, M. Naito, F. Wu, On the oscillation of solutions of 4-dimensional Emden– Fowler differential systems, Adv. Math. Sci.Appl. 11(2)(2001), 685–719. MR1907463.
- [14]. I.T Kiguradze and T.A Chanturiya, Asymptotic properties of solutions of nonautonomous ordinary differential equations, Kluwer Acad.Publ.,Dordrecht(1993).
- [15]. Li, T, Zhang, C, Xing, G: Oscillation of third-order neutral delay differential equations. Abstr. Appl. Anal. 2012, Article ID 569201 (2012).
- [16]. Li, T, Thandapani, E, Tang, S: Oscillation theorems for fourth-order delay dynamic equations on time scales. Bull. Math.Anal.Appl.3, 190-199, 2011.
- [17]. Mustafa FahriAktaş, DevrimÇakmak, AydınTiryaki ,On the qualitative behaviors of solutions of thirdorder nonlinear functional differential equations,Applied Mathematics Letters 24(2011),1849-1855.
- [18]. Philos, CG: Oscillation theorems for linear differential equations of second order. Arch. Math. 53, 482-492 (1989)

- [19]. P. V. H. S Saikumar and K. V. V Seshagirirao, Oscillations of third order linear neutral delay differential equations, International Journal of Mathematical Archive-9(9), 2018, 74-79.
- [20]. Thandapani, E, Li, T: On the oscillation of third-order quasi-linear neutral functional differential equations. Arch. Math. (Brno) 47, 181-199 (2011)
- [21]. Xing, G, Li, T, Zhang, C: Oscillation of higher-order quasi-linear neutral differential equations. Adv. Differ. Equ. 2011, 45 (2011)2058-2065, 2012
- [22]. Zhang, Q, Gao, L, Liu, S, Yu, Y: New oscillation criteria for third-order nonlinear functional differential equations. Abstr. Appl. Anal. 2014, Article ID 943170 (2014).

P.V.H.SSaiKumar, etal. "Oscillations of Third Order Neutral Delay Differential Equations". *IOSR Journal of Engineering (IOSRJEN)*, 10(1), 2020, pp. 46-52.